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Figure S3A Left
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Figure S3B Upper 

Tie1-IP

Tie1
Tie2

Polydom
Ang1

- + - +
- - + +

- - - -
- - - -

- + - +
- - + +

+  +  +  +
- - - -

- + - +
- - + +

- - - -
+  +  +  +

Tie1-IP

Tie1
Tie2

Polydom
Ang1

- + - +
- - + +

- - - -
- - - -

- + - +
- - + +

+  +  +  +
- - - -

- + - +
- - + +

- - - -
+  +  +  +



pTyr blot

100

150

250

(kDa)

pTie2

100

150

250

(kDa)

Tie2 blot

Tie2

Figure S3B Lower

Tie2-IP

Tie1
Tie2

Polydom
Ang1

- + - +
- - + +

- - - -
- - - -

- + - +
- - + +

+  +  +  +
- - - -

- + - +
- - + +

- - - -
+  +  +  +

Tie2-IP

Tie1
Tie2

Polydom
Ang1

- + - +
- - + +

- - - -
- - - -

- + - +
- - + +

+  +  +  +
- - - -

- + - +
- - + +

- - - -
+  +  +  +


